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6. Fold vertex (#847) A to meet point F as shown in figure,
ZA=46", ~1=40". What is the degree size of £2?
(A)92° (B)80" (C)52° (D)46°
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7. As shown in the figure, it is know that the areas of 2. 4Bl Twm 3~ BBEA-B~C-D~E~F> g 8.2 FF& B 8L

(% #%) the isosceles right angles (% "2 %) A BAEFBRE o ok A f@fgg@?g@%&@gg'&g A 7 AR
ABC and ACDE are 28 and 7 respectively. While i o
the hypotenuses (£ :#) BC and CD of right angles s
AABC and ACDE ; respectively are on the same Ae oF
line segment. The intersection point of AD and BE is F. What is the area of the shaded
quadrilateral (f& % = :£45)? ge °E
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